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Note: All questions are compulsory. Marks are indicated against each question in brackets.

Q1. Normal cells and cancer cells can be differentiated in terms of genetic factors as Wéll as their

metabolic profiles. How do you differentiate between above mentioned cellso

',:ﬂa'f'd‘

energy producing biochemical events? (2 5 mavks){,GOV)
Q2. Nicotinamide adenine dinucleotide is also energy providers in the bloéilelziroal reactions

however, their region of generation is critical for their usage. Whateare t1sS‘ﬁé specific fates

(aerobic & anaerobic) of NADH produced during glycolytlc.path‘ivay? (2 5 marks)(COIII)

Q3. Due to the high substrate afﬁmty of hexokinase enzyme, _sliows saturation with high

Q“‘__,,glucose influx in liver? How

liver cells tackle the condition of enzymatic samratu_:)‘ ! (2.5 marks) (COLY)
Q4. What are the biochemical consequences if the food orf’*water is continuous contaminated with
malonate and arsenate. (2.5 marks) (COV)

Q5. Design a strategy to purify/separate | the =0tems from a mixture of ten proteins in which four
proteins are highly basic in nature*an 1est six are of acidic nature. Justify the usage of resin
"tatlonary phase. (3.0 marks) (COII)

l} dre majorly antagonistic in their final product as well as in

employed for the purificatior

Q6. Glycolysis and gluc(‘):fl“'leo'._

S

the sequence of reggfions However, several reactions are not truly reversible.

a) Define the bloehe;mlcal reactions which get bypassed during gluconeogenesis and their
(3.0 marks) (COIIT)

Q7 The Iévels of oxaloacetate is usually limited in cells, however its optimum concentration is

reQulred for TCA cycle. Define the reactions by which the optimum concentrations of

oxaloacetate as wells as the precursors of TCA get achieved in cells? (3.0 marks) (COLV)
Q8. Some people consume raw eggs instead of boiled or other preparations. What will the

biochemical consequences, if a person is on prolong usage of such kind of diet regimes? (3.0

marks) (COYV)



